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Problem 1. % f(z) = 2* —32% + 222 — 2z + 1, K f(1+2).
Problem 2. m,n € N*, & & %M X
f@)y=a™t+am 2.t 1
glx)=a"""+2" 7+t +1
KiE (f(2),g(2) = 1 HERE (m,n) = 1.

Problem 3. % fo, f1, fo, fs € Fla], B fo(a®) +afr(a'0)+ 22 fo(a'5) +2° f3(2°) R 2 42 +2° + o +1
R, AR f(2)(i =0,1,2,3) ReMk xz — 1 k.

Problem 4. B A LAY E—SAKX fi(), f2(z), B deg(fi(z)) < 3,deg(fa(x)) < 3, Xk o' + 22 +
L] fi(@®) + 2 fo(2®), AR (fi(2), f2(2)).
Problem 5. % f(z),g(x), h(z) € Flz], B (g(x),h(z)) =1, i : A4 r(x), s(z) € Flz] 147
f(@) = g(x)r(z) + h(z)s(x)  degr(z) < degh(z).
Problem 6. % Flz] A T4 F Lo &K SARNESL, ¢ & Flz] POE—FRS AR, 4
I={f(z) € Flz] | f(c) =0}

(1) ¥ GERE—OE—SAKN p(x) € I, /5 1 ¥AA flx) BA plx) | f(x), L plx) & f(z) LR
7T 4.

(2) W AESAX g(z) € Qlz], 27 g(c) = L.

Problem 7. i% f(z),g(x) € Clz] Z%, iE9:[f(x)]* + [g(2)]* 9 EZHZ [f'(2)]> + [¢' (2)]* 894R.
Problem 8. XK 2n -1 R ZAX f(z), 7 (z—1)" | (f(z)+1),(x+1)" | (f(z)—1).

Problem 9. iE#: 34L& n e N*, 3Ah (22 + 2+ 1,22 — (z+ 1)) = 1.

Problem 10. % f(z) € Z[z], B f(1) = f(2) = f(3) = p (pH F ), LW : RAE m c ZEF f(m) = 2p.
Problem 11. % f(z),g(x), h(z) € Rz], B f2(z) = xg?(x) + zh?(z), iEH f(z) = g(z) = h(z) = 0.
Problem 12. % n € N*, p(z) = ﬁ , BEn>5, ¥ ay,a0,-- 0, HDETAR G ES. GER: &
ax+m+1em]ﬁugix7%1dﬂ)—awmwwq@+1ﬁw;L&KW%

Problem 13. % o, a0,a3 AL FZHKZAX f(x) = 23 + az? + br + ¢ =4, KKK of, 03,08 A=A
o9 75 A2

Problem 14. % f(z) € Q[z|,deg f(z) = n.f(z) A n NEAR A, Ag, -, Ay B SHEE g(2) € Q[z],
AR A ﬁg()\z) €Q

i=1



